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Figure Caption 34 

Figure S1. Nutrient dependence of the difference in carbon isotope compositions between leaves and 35 

heterotrophic organs of Nitraria tangutorum Bobrov, which is measured by organC13 in Eq (1) and 36 

averaged across the nebkhas excavated at the same study site. Negative values indicate 
13

C 37 

enrichment in heterotrophic organs compared to leaves. Changes of organC13 as a function of organ 38 

contents of carbon (a), nitrogen (b) and phosphorous (c) and of organ ratios of carbon to nitrogen (d), 39 

nitrogen to phosphorous (e), and carbon to phosphorus (f). The two arrows in (b) indicate values for 40 

woody debris from dead ramets at each study site while in (d) indicates an outlier caused by 41 

measurements in phosphorous content (see the outlier in c and f). All nutrient values are normalized 42 

(divided) by their corresponding values in the leaves.  43 
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